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2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

1.752.002.252.502.753.003.253.50

2 0 2

2

0

2

residuals

0.20.10.00.10.20.30.4

Fiber 2610, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.8 0.6 0.4 0.20.0 0.2

Fiber 4728, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.0500.0250.0000.0250.0500.0750.1000.1250.150

Fiber 4221, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.10.0 0.1 0.2 0.3 0.4

Fiber 2331, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.5

2 0 2

2

0

2

model

2.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.150.100.050.000.050.10

Fiber 1125, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.10

Fiber 225, dchi2frac= 1.0



2 0 2

2

0

2

data

2.002.252.502.753.003.253.503.75

2 0 2

2

0

2

model

1.752.002.252.502.753.003.253.503.75

2 0 2

2

0

2

residuals

0.080.060.040.020.000.020.040.06

Fiber 1057, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.6 0.4 0.2 0.0

Fiber 734, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.100.050.000.050.100.15

Fiber 4187, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.040.020.000.020.04

Fiber 1005, dchi2frac= 1.0



2 0 2

2

0

2

data

1.82.02.22.42.62.83.03.2

2 0 2

2

0

2

model

1.82.02.22.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.10

Fiber 1434, dchi2frac= 1.0



2 0 2

2

0

2

data

2.002.252.502.753.003.253.503.754.00

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.150.100.050.000.05

Fiber 2891, dchi2frac= 1.0



2 0 2

2

0

2

data

1.61.82.02.22.42.62.8

2 0 2

2

0

2

model

1.6 1.8 2.0 2.2 2.4

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.100.150.20

Fiber 2808, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.10

Fiber 0, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.5

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.20.10.00.10.20.30.4

Fiber 1344, dchi2frac= 1.0



2 0 2

2

0

2

data

2.002.252.502.753.003.253.50

2 0 2

2

0

2

model

2.002.252.502.753.003.253.503.75

2 0 2

2

0

2

residuals

0.40.30.20.10.00.10.2

Fiber 2169, dchi2frac= 1.0



2 0 2

2

0

2

data

2.002.252.502.753.003.253.503.75

2 0 2

2

0

2

model

2.002.252.502.753.003.253.503.75

2 0 2

2

0

2

residuals

0.060.040.020.000.020.040.060.08

Fiber 787, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.050.000.050.100.150.200.250.30

Fiber 421, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.000.050.100.150.200.25

Fiber 2267, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.0

Fiber 288, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.050.000.050.10

Fiber 622, dchi2frac= 1.0



2 0 2

2

0

2

data

3 4 5 6

2 0 2

2

0

2

model

2.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.000.250.500.751.001.251.501.75

Fiber 1281, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.56.0

2 0 2

2

0

2

residuals

0.30.20.10.00.10.20.30.4

Fiber 160, dchi2frac= 1.0



2 0 2

2

0

2

data

1.8 2.0 2.2 2.4 2.6 2.8

2 0 2

2

0

2

model

1.8 2.0 2.2 2.4 2.6

2 0 2

2

0

2

residuals

0.050.000.050.100.15

Fiber 4988, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 2419, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.20.10.00.10.20.30.40.5

Fiber 2829, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.15

Fiber 4096, dchi2frac= 1.0



2 0 2

2

0

2

data

0.250.500.751.001.251.501.75

2 0 2

2

0

2

model

0.250.500.751.001.251.501.752.00

2 0 2

2

0

2

residuals

0.3 0.2 0.1 0.0 0.1

Fiber 4589, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.50.40.30.20.10.0

Fiber 4886, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.22.42.62.83.03.2

2 0 2

2

0

2

model

2.02.22.42.62.83.03.2

2 0 2

2

0

2

residuals

0.040.020.000.020.040.06

Fiber 270, dchi2frac= 1.0



2 0 2

2

0

2

data

2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.6 0.4 0.20.0

Fiber 1110, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.40.30.20.10.00.1

Fiber 2624, dchi2frac= 1.0



2 0 2

2

0

2

data

2.002.252.502.753.003.253.503.754.00

2 0 2

2

0

2

model

3 4 5 6 7

2 0 2

2

0

2

residuals

3.53.02.52.01.51.00.50.0

Fiber 1408, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0 4.5

2 0 2

2

0

2

residuals

0.1250.1000.0750.0500.0250.0000.025

Fiber 418, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.22.42.62.83.0

2 0 2

2

0

2

model

2.02.22.42.62.83.0

2 0 2

2

0

2

residuals

0.3 0.2 0.1 0.0 0.1

Fiber 672, dchi2frac= 1.0



2 0 2

2

0

2

data

1.752.002.252.502.753.003.253.503.75

2 0 2

2

0

2

model

1.752.002.252.502.753.003.253.50

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.200.25

Fiber 4820, dchi2frac= 1.0


